Ring Communication

successor : = Mod[ ($l dProc +1), $NProc];

predecessor : = Mod[ ($l dProc -1 + $NProc), $NProc];

bl ocksi ze = 1024;

X : = Range [$] dProc = bl ocksize +1, ($ldProc +1) * bl ocksi ze];
Print [mpi Gat her [{$I dProc, Total [x]}11;

Do [
npi | Send[x, successor, 1, npi CommMrld, sreql;
npi | Recv [v, predecessor, 1, nmpi Comm\rld, rreql;
npi Wai t [sreq];

npi Wai t [rreq],
{i, 0, $NProc - 1}]

Print [npi Gat her [{$I dProc, Total [v]}]1];

({0, 524800}, {1, 1573376}, {2, 2621952}, {3, 3670528},
(4, 4719104}, {5, 5767680}, {6, 6816256}, {7, 7864832}}

({0, 7864832}, {1, 524800}, {2, 1573376}, {3, 2621952},
(4, 36705281, {5, 4719104}, {6, 5767680}, (7, 6816256})



